[ Efficiency vs vertpos |
-~ 0.5

TP SRS N S— —

0 E : : :
2 04F e SRR e
T R S e R
S _F : : E
§ OB R
0.2 -+eeeesieererenenene B
0.2 oo fromen e

T R SO -

S—

1072 10*1 1 10 0?
TP vertr (cr%)

— I_original_step. ar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
Efficiend —— DQM_pixelCPETemplateCut hiSquare5_step2_ttbar-phasel-newgeom
—— D

OM_pixel CPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom
0.8

e S T S
1 R s S S

i S S S

efficiency vs vert z

7 RN P T T e
e e e
L, S R . S

0.1

+0
1.2
1.
1

935 20 30

Ratio

~ 0.5
> : : : : : : :

O s S S S S
£ : : : : : : :

e e e s RS M A
B T O i o
9% 2 N1 O T
TN SR T S W
100 A W T
EFYS S S N S
I
008 oo b ¥--e ----- o

0
1.2}

y

)
c
9
:1:

Ratio

1_

0 =15 =10 =5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


